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Candidates are required to give their answers in their

1. Answer any ten questions:

own words as far as practicable.

2x10=20
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i)

iif)

Iflog, 3 = a, and log, 5 = b, then find the value
of log, 3.

3t log, 3 = a, 943X log, ;5 = b 2, ©(J log, 8-49
S fefa 41

If 22" =16, then find the value of (x+1).

A 22 =16% =, @ (x+1)-4q WA ey 9
Find sum of first 100 terms of the series
{1,4,6,5,11, 6.......... }.

{1,4,6,5,11, 6.......... } aifefom @isiFe1 100 o
AR @orwe o 41
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vi)

vii)

viii)
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If the sum of the first 14 terms of an arithmetic
progression is 1050 and its first term is 10,

find the 20-th term of the progression.

I wIeT Asifen 2w 14 “ilor @iereet 33 1050
G2 o 10 T3, o asifeq 20-e5 «wfG e 51

7

_2 -
For what values of x, the numbers — X, are

in geometric progression?
X GBI NG & — |, x, = 3kl fomfba wietres
RIS SR

What will be the compound interest on
Rs.25,000/- after 3 years at 12% per annum?

ARE 12% vagfa o 2@ 3 I2EF G (TR
25,000 SR WFM M IO FJ?

If the compound interest on a certain sum for
two years at 12.5% per annum is Rs.170/-,

then what will be the principal amount?

AfFF 12.5% vagfa Joa 2@ T g eim 2
2 bagia @ 170 BRAl 82, I GG STe
O (A7

Find median of the numbers:
ave w2 wiera S o w4
13, 33, 41, 47, 48, 48, 69, 78, 83, 33, 41, 46
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ix) What are the roles of variance in Statistics?

AR (o e whefy Srard 3|
x)  Find the value: xli)rgll[ 1+x+x%+ -+ x1]

W ﬁcﬁ k] llml[ 1+x +x2 + o4 xlO]
x——

15 _
xi) Find the value: lim [%]
x-1

x15 _

T e w9 lim [
x-1

]
xii) If y =x5 sinx, then find the value of Z—i’.

I y =x° sinxiﬂ,w%mwﬁcﬁw|

dx
xlogx

xiii) Integrate [

dx
xlogx

AN 9 : [
xiv) Integrate [™/*(sinx)? dx

AT 9 [/ ?(sinx)? dox
xv) If f(x) +2 f(-x) = 1, find value of {(0).

I f(x) +2 f(-x) = 1 T, ©& f(0)-a7 T fef

4|

Answer any four questions: 5%x4=20

(F-(FICT BIATG Aesfar e 7he 2
i)  Find Z—i’, where y=log,,(2x +./(2x + 3)).

% fef &9, @A y=logo(2x +/(2x+3))!
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iii)
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Write five geometric means between 9 and
527.

9 G2 527-99 W& A wreedw NGF @12 |

If the p-th term of an A.P. be % and the g-th
term be %, then show that the sum of the first

pq- terms of the series will be 3 (1+pq).

At G TR 26ifA p-o A - 4R g9 o -
T, O A9 FF (T, ALV AT AW A
3 (14pq) |

Dola Sikder takes a loan of Rs.20,000. She
will repay the loan in 10 equal annual
instalments at 4% compound interest per
annum. Find the amount of each annual
instalment. [log, (1.04) =0.0170, log (6761)
=3.8300.]

@i P 20,000 B @ G | s 4%
vaqia 27 9w 10 G 579 91T [Fiere @ ael it
e | efe aiffs e «ifame o w1

Kornika Biswas borrows Rs.8,190 (with no
interest) and repays the loan in 12 monthly
instalments. If the amount of each instalment
is twice the preceding instalment, find the

amounts of the first instalment and the last

(4)



instalment.

it Rt Rt o 8,190 Bl 417 FAGT @R
1275 S [FiRecs 1= oofie 2 | i afol [iea
Bl o e fawel 27, ©@ g % ¢ i
ez sifasie Fefy w1

vi) Iflog a =5 andlog 6 b =35, find the value of

a3

ﬁ.

i log,a = 5 & log,, b = 5 2, O &, -4 7
foofa 91

Answer any two questions:

10x2=20

@I 75 ev Tex wie ¢

i) a)

Find the median and mode of the

following frequency distribution: 5

fwfariie «ifaere Rerses T e wranaF

Class Interval

50-60 | 61-65 | 66-70 | 71-75 |76-80

Frequency

7 25 43 28 7

b)

Find the standard deviation of the

following sample: 5

A7 TR TE [pyfe e w4

Value of variable (x) 0 |1 2 |3 4 15

Frequency (f)

58 /186 |40 |14 2 O
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i) a)

Compute the coefficient of skewness
based on the quartiles from the following
data: 4

T ©Y (AT vodF wlem Mg AR
afetaasy warm g F:

Age in Years

0-10 {10-20 | 20-30 | 30-40 | 40-50|50-60

Number of Persons 58 86 40 14 2 0

b)

iii) a)

b)
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Find the value of range, quartile deviation,
mean deviation ( about median) and
standard deviation from the following
data: 6

BT O (AT 2P, bgdss [pfs, s [pfe
(SR AMATF) @R T [pfe o s

26, 37, 53, 67, 80, 108, 131
Define mode and median. 3
HLGE] WIS : NS 8 AR |

There are two missing frequencies in the
following frequency distribution table. If
the median and mode are respectively 25
units and 24 units, find the missing

frequencies. 7

fxfie G g edifeier sk
S I | AW N € AT e I
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25 §FF QR 24 GFF T, OIFE TS
Aferanel S s

Class Interval

0-10 | 10-20| 20-30| 30-40 | 40-50

OISR
Frequency 14 - 27 - 15
QIR
iv) a) Is the function defined by
£(x)= x+5if, x<1 )
X)= x—5if, x>11 2 continuous
function? 5
f( ) x+5if, x<1
X—Sif,XZIIW e rge s
b) If y= 3cos(logx) + 4sin(logx), show
that x%y, + xy; +y =0. 5
R y = 3cos(logx) + 4sin(logx) ¥F, ©F
&l 9 x%y, + xy; +y = 0]
279/Comm. (7)



